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We're ahead of schedule on lecture. I'd like to see if we can do some midterm prep.

Some Old Written Tests
Fall '17 tests feature absolute value in the limit ,L",P e
u ute valu L-t" CC‘)—s s ]

4. (5 pts each) Evaluate the following limits, if they exist. If one does not exist, explain why.
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Does not exist because the limit from the right isn't the same as the limit from the left.


https://harryzaims.com/public_html/201/201-fall-19/old-tests.html
https://harryzaims.com/public_html/201/201-fall-17/tests-u-took/

240923-review-for-mid.notebook September 23, 2024

X . . - L , -4 (if x<1 . )
5. (15 pts) Sketch the graph of the piecewise-defined function f (Jr]: ] . Label intercepts with
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4. (5 pts) Write the definition of the piecewise-defined function from its graph:
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@ Definition A function f is continuous on an interval if it is continuous at
every number in the interval. (If f is defined only on one side of an endpoint of the
interval, we understand continuous at the endpoint to mean continuous from the

right or continuous from the left.)
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Either way you do this one in Section 2.2, the trick is recognizing the difference of
cubes living inside the thing.
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